# CLASS TOTH MID TERM

# BOOSTER

## OUADRATIC EQUATION



Deeksha Scholastic Aptitude Test	Block Your Seat Now
Confused About Your Career Choices After 10th?	Name *
Take dSAT today	
<ul> <li>60-minutes concept-based lecture and career orientation</li> </ul>	Phone Number *
Aptitude Test     Ope-op-ope coupselling	
<ul> <li>Competency assessment for Competitive Exams including JEE/NEET/KCET</li> <li>TO 90% SCHOLARSHIP</li> </ul>	BLOCK MY SEAT
GETUPI	By submitting my data I agree to be contacted. Terms & Conditions and Privacy Policy

For More Information Visit Website, Link in Description

including JEE/NEET/KCET

### Standard form of Q. E. $ax^{2} + bx + c = 0$ $ax^{2} + 4x + 4 = 0$ $ax^{2} + bx + 4 = 0$ bx + 4x + 4 = 0

$$a=2, b=4, C$$

$$x^{2} = 4$$

$$x^{2} - 4 = 0$$

$$x^{2} + 0x - 4 = 0$$

$$x = 1, b=0, C = -4$$





#### Solving a quadratic equation

$$2x^{2} - 2x - 4 = 0$$

$$x = -1, 2$$

$$x = -1$$

JOIN OUR WHATSAPP CHANNEL FOR THE PDF

SUBSCRIBE TO DEEKSHA KARNATAKA

Methods to find roots Of Quadratic Equation

**1. Factorization** 

🗸 . Formula [Sridharacharya Formula]



#### **Factorization method** Identities



#### Q. Solve:







**Q. Solve:** 6 -5 , X  $\neq \bot$ x+5x - 1215 -12×2 X-1 - 4 4 x - 5 - 7 = D  $\mathcal{X}$ x+5- (x-1) 0  $\chi^2 + 4\chi - 12 = 0$  $(\chi - I)(\chi + S)$ 2 + 6x - 2X - 12 = 0N  $\mathcal{X}(x+6) - 2(x+6) = 0$ +Sn-n-S(2+6)(x-2)=0К H2 スニ 7=22+4x-5 5

LINK IN THE DESCRIPTION

SUBSCRIBE TO DEEKSHA KARNATAKA



JOIN OUR WHATSAPP CHANNEL FOR THE PDF



$$y = \frac{7n+1}{5n-3} \qquad \begin{array}{c} 4 = \frac{7n+1}{5n-3} \\ 20n-12 = 3n+1 \\ 20n-3n=1+12 \\ 15n=13 \\ \hline n=1 \\$$

#### **Q. Solve:** $+b \neq 0$ $\overline{a} + \overline{b}$ a + b + xX a $(\alpha + b + x)$ $\mathcal{M} - (a+b+\mathbf{x})$ 6+a x (a+6+x) aь atb $\frac{x-a-b-x}{ax+bx+x^2}$ as 9+6) (a+5) $\Box$ qЬ n2-taxton $-ab = \pi^2 + an + br$



$$= 0 = x^{2} + an + bn + ab$$

$$= 0 = x^{2} + an + bn + ab = 0$$

$$= x^{2} + an + bn + ab = 0$$

$$= x^{2} + an + b(n + a) = 0$$

$$= x^{2} + a(n + a) + b(n + a) = 0$$

$$= x^{2} + a(n + a) + b(n + a) = 0$$

$$= x^{2} + a(n + a) + b(n + a) = 0$$

$$= x^{2} + a(n + b) = 0$$



#### **Nature of roots : Graphical method**





SUBSCRIBE TO DEEKSHA KARNATAKA



#### Q. Check the nature of roots for the Q. E.

$$\begin{array}{l}
 16x^2 = 24x + 1 \\
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 \hline
 16x^2 - 24x - 1 = 0 \\
 16x^2 - 24x^2 - 24x - 1 = 0 \\
 16x^2 - 24x^2 - 24x - 1 = 0 \\
 16x^2 - 24x^2 - 24x - 1 = 0 \\
 16x^2 - 24x^2 - 24x - 1 = 0 \\
 16x^2 - 24x^2 - 24x^$$

JOIN OUR WHATSAPP CHANNEL FOR THE PDF



## Q. Check the nature of roots for the Q. E. $3a^{2}x^{2} + 8abx + 4b^{2} = 0, a \neq 0$ $D = b^2 - 4ac$ $= (8 \approx 5)^2 - 4(3 \approx^2)(+45^2)$ = 649<sup>2</sup>5<sup>2</sup> - 489<sup>2</sup>5<sup>2</sup> $(6) a^{2} b^{2}$ Veal & distinct.



Q. If the roots of the eqn.  $(a^{2} + b^{2})x^{2} - 2(ac + bd)x + (c^{2} + d^{2}) = 0$ are equal. Then prove that  $\frac{a}{b} = \frac{c}{d} \qquad () = 0$  $a = a^2 + b^2$ ; b = -2(ac+bd);  $(2c^2 + d^2)$  $D = b^{2} - 4ac$  $= \left[ -2(a(+ba))^{2} - 4(a^{2}+b^{2})((2+a^{2})) + (a^{2}+b^{2})((2+a^{2})) + (a^{2}+b^{2})((2+a^{2})$  $= 4 \left[ a^{2}c^{2} + b^{2}d^{2} + 2abcd \right] - 4 \left[ a^{2}d^{2} + a^{2}c^{2} + b^{2}c^{2} + b^{2}d^{2} \right]$  $= 4 \left[ \frac{a^2c^2}{b^2c^2} + \frac{b^2a^2}{b^2c^2} + \frac{b^2a^2}{b^2c^2} - \frac{a^2a^2}{a^2c^2} - \frac{b^2c^2}{b^2c^2} - \frac{b^2c^2}{b^2c^2} \right]$  $D = 4[-a^2d^2 - b^2c^2 + 2abcd]$ 



$$D = 4 \left[ -a^{2}d^{2} - b^{2}c^{2} + 2abcd \right]$$
  

$$= -4 \left[ a^{2}d^{2} + b^{2}c^{2} - 2abcd \right]$$
  

$$= -4 \left[ (ad)^{2} + (bc)^{2} - 2(ad)b^{2}c \right]$$
  

$$D = -4 \left[ ad - bc \right]^{2}$$
  

$$O = -4 \left[ ad - bc \right]^{2}$$
  

$$O = -4 \left[ ad - bc \right]^{2}$$
  

$$O = (ad - bc)^{2}$$
  

$$O = ad - bc (=) ad = b^{2}c^{2}$$
  

$$= 2ad - bc (=) ad = b^{2}c^{2}$$



#### Q. Check the nature of roots for the Q. E. & find the roots $\left(x+\frac{1}{x}=3\right)\chi$ $\mathcal{H}^{2} + 1 = 3n = ) \cdot \mathcal{H}^{2} = 3x + 1 = 0$ $\frac{1}{2}(-3)^{2} - 4(1)(1)$ = 9 - 4 - (5) > 0 $\frac{3+\sqrt{5}}{2}$ C. Pais $\gamma DOFS = -b \pm JD$ Za $= -(-3) + \sqrt{5}$ $\gamma_{1}$ -= 3 + 5

Word problems on Q. E. Steps:-

- 1. Read the problem out loud (if it is big problem break into multiple statements)
- 2. Identify the unknown and assign the variable to it.
- 3. Find the keywords & list down all what is given
- 4. Start writing your mathematical statements using the variables & given data



Q. Find the whole numbers which when decreased by 20 is equal to 69 times its reciprocal. -> lef the whole no. be X  $\mathcal{X} - 2\mathcal{D} = 69\left(\frac{1}{x}\right) \longrightarrow \chi \chi$  $-69 n^{L}$  $=) \pi^2 - 20n = 69$  $=) \chi^2 - 20n - 69 = 0$ + 3x-23x  $=) \alpha^{2} + 3n - 23n - 69 = 0$ J N(N+3) -23(N+3) 20 Z) (2 + 3)(2 - 23) = 0-) 2(--32+23

JOIN OUR WHATSAPP CHANNEL FOR THE PDF

#### Q. The sum of a number and its positive square root is $\frac{6}{25}$ . Find the number.



(57+6)(5t-1)=0 St-1 こ 0 St+6-0 E=1/5 t = -6 X  $\int x = 1/5$  $\frac{1}{2}5$ 2 = 27 + JX - 6

 $\frac{1}{25} + \frac{1}{2}$  $-\frac{1+5-5}{25}$ 

Q. The speed of a boat in still water is 8km/hr. It can go 15 km upstream and 22 km downstream in 5 hours. Find the =) Speed of stream = x Km/h. Speed of boat upstream = (8-x) Km/h time = Distance Speed of boat upstream = (8+x) Km/h time = Speed Speed downstream = (8+x) Km/h speed of the stream. - 3km/h D.S = Shours UP 22km (15km) $\sqrt{2}$ 



 $+\frac{22}{2+8}=5$ 8-X  $24 \times 5$ =) 15(8+x) + 22(8-x)\_ -120x2  $\overline{\phantom{a}}$ (8-2)(8+2) 120+15x+176-22x Sn -15r 82-22  $= \frac{246 - 7n}{2} = \frac{5 \times 64 - 5 \times 2}{(\chi - 3)(5 \times + 8)} = 0$ ) Sr2-Jx+296-320 - 0/22-3 · 5x 2 - 8 2--2  $=) \int x^2 - 7x - 24 = 0$ Speed of Stream =)  $S\chi^2 - 1S\chi + 8\chi - 24 = 0$ = 3 km/h (-) (x-3) + 8(x-3) = 0

64 xS 32

Q. A plane left 40 minutes late due to bad weather and in order to reach its destination, 1600 km away in time, it had to increase its speed by 400 km/hr from its usual speed. Find the usual speed of the plane.

$$\int x km/h$$
Distance = 1600 km  

$$new \text{ speed} = 3\ell + 400 \ km/hr$$

$$t_1 = \text{ time taken (usual speed)} = \frac{1600}{3} \ hr$$

$$t_2 = 11 \ 11 \ (new \text{ sped}) = \frac{1600}{3} \ hr$$

$$t_1 > t_2$$

$$= 1 \ t_1 - t_2 = \frac{40}{50}$$



$$= \frac{1600}{2} - \frac{1600}{2+400} = \frac{240}{360}$$

$$= \frac{1600}{2} \left[\frac{1}{2} - \frac{1}{2+400}\right] = \frac{2}{360}$$

$$= \frac{1600}{2} \left[\frac{2(2+400-2)}{2(2+400)}\right] = \frac{2}{3}$$

$$= \frac{1600(400)}{2(2+400)} = \frac{2}{3}$$

$$= \frac{1600(400)}{2(2+400)} = \frac{2}{3}$$

$$= \frac{1600(400)}{2} = \frac{2}{3}$$

$$= \frac{1600(400)}{2} = \frac{2}{3}$$

$$= \frac{1600(400)}{2} = \frac{2}{3}$$

$$= \frac{1600(400)}{2} = \frac{2}{3}$$

$$= \frac{1600}{2} = \frac{2}{3}$$

$$9600002^{2}$$

$$+ 12002 - 8002$$

$$=) 2^{2} + 12002 - 8002 - 90000 = 0$$

$$=) 2(n + 1200) - 800(n + 1200) = 0$$

$$=) (n + 1200)(n - 800) = 0$$

 $\bigcirc$ 

#### **Your Roadmap to Success**

Stay on track with a structured schedule that covers every essential topic you need for mid-term success. Each class is designed to reinforce core concepts and provide ample practice to ensure you're fully prepared. Follow the timetable, access class PDFs, and watch video lessons—all at your own pace. Your journey to acing the exams starts here!

<ul> <li>13th Sept 2024</li> </ul>		
Торіс	PDF	Link
Real Numbers		
Life processes		

#### **Download the class PDF now ! link in the** description

Homework questions 1. Check the nature of roots for the Q. E. & find the roots  $3x^2 - 5x + 2 = 0$   $\chi + \chi = 8$ 2. The sum of two numbers is 8 and 15 times the sum of their reciprocals is also 8. find the numbers.

3. An aeroplane take 1 hour less for a journey of 1200 km if its speed is increased by 100 km/hr from its usual speed. Find the usual speed.

